= AH O
N = 0 &8 AF S & Al A
01ME L = QUBHS| N SEEXMY ~ BHEBX
SN SASHD
M. £EASAEA
Rl A (e
_ _ _ ME T =
2N -3 - c2(3H) - NEME - HES AFoH Ol Ak O Hns
sSAEH 11,087,068 11,266,880 N179,812
= 2,532,600
z 574,000
< 45,115
= 7,935,353
FAEAEHA 2,490,899 2,397,406 93,493
= 1,168,000
o 1,322,899
=& 1,710,184 650,278 1,059,906
= 1,168,000
= 542,184
P Aze 5,300 5,850 A550
Bt29H 5,300 5,850 AB50
01 AtR22 3,300 3,600 A300
gt 3,300
PSkel OFLH A HMIZ
2002 * 7,5000H 1,500
[ B AN 242
10,0002 * 1807H A 1,800
=229 2,000 2,250 A250
[B3e= XAl 2,000
OFSIEEA O RER2
2502 * 8,0000H 2,000
4 SHAE 29 22,128 24,588 A2,460
2494 22,128 24,588 A2,460
2Y 22,128 24,588 A2,460
= XAl 6,588
SHAl A IHGANERY M2
540,000& * 12& 6,480
Sl £ EEEQ FMAERB
9,000 * 12& 108
o gl] 15,540
a2l ZEHSIAE K2/
6,540,000& = 14! 6,540
A AN Oi&old S22l
3,000,000 * 34 A 9,000
SEIHA KA 22 3,548 2,868 680
Bt HY| 3,548 2,868 680
AF2 22| H] 2,000 1,377 623
Olgetx=gH| 2,000
OZ=3HA B2 HE 80,0008 10 A 800
OZBSS&A HOAEE 60,0002 * 2000 A 1,200
2324l 1,548 1,491 57




SN BASHD
HE: 2NHADH
ool AR (25l &2
_ _ _ Muo
SN B OR(B) - NRAY - BYS O AF o8 il i~ o Rz
OlBZR3 < MAl 348
OZEsIA HIIQS 348,008 * 14 348
OAI&ZHIRXIHI] 1,200
OZEsIa RNR2lYl 240,008 * 52 1,200
MAs2I| 25 10,922 10,972 A50
101 Q124 6,922 6,922 0
04 JARZRIISES 6,922 6,922 0
OMTFYl Q12|
34,6108 + 1021 * 43 * 52 6,922
206 T2l 4,000 4,050 A0
01 T2l 4,000 4,050 A0
O+MAE 7Y 40,0008 * 50m * 23| 4,000
MENGHE =AY 1,454,000 400,000 1,054,000
= 1,018,000
2 436,000
401 Al4HIL 20| 1,454,000 400,000 1,054,000
= 1,018,000
2 436,000
01 Al&| 1,454,000 395,000 1,059,000
OlA &I 1,454,000
OMENGHE=RIAFR  1,454,000,00020 * 1A 1,454,000
= 1,018,000
= 436,000
MY BRMYI| TS HX L A 214,286 200,000 14,286
=2 150,000
2 64,286
101 Q1248 62,298 62,298 0
= 43,608
2 18,690
04 JIZH22HSE4 62,298 62,298 0
ORSMYII+H olw
34,6102 * 2021 * 802 55,376
= 38,763
2 16,613
ORRMYIN2HALY 4HBE 2
5,376,0002 * 0.125 6,922
= 4,845
2 2,077
201 LByl 57,000 15, 100 41,900
= 39,900
2 7,100
01 AtR2elt] 52,000 15, 100 36,900
SIEITER=11T) 7,000




SN SHABSAY
HM: 2ANSHIGH
el A QAT (&te: @2
- _ _ P NE e
2MH - 2 . H2(ZH) - MEAY - BES 0] Ao oﬁf@ Hl =2
ORSMYIIH2 ARE o
7,000,000 * 14l 7,000
= 4,900
= 2,100
Ola3Hl] 5,000
OESMYIILHME S
5,000,000 * 14! 5,000
= 3,500
= 1,500
olgxz] 40,000
OESMEYD| =H Hdet 2Axt2
40,000,000 * 1Al 40,000
= 28,000
= 12,000
02 222ZH| 5,000 0 5,000
OI[Xtats et ] 5,000
OBRMHYI =H REFY
5,000,0002 * 14l 5,000
= 3,500
= 1,500
307 QI2tolA 84,988 116,602 A31,614
= 59,492
= 25,496
05 BI2+QEt=2 84,988 116,602 A31,614
ORSMHIl £H Al
250,000 * 339,952 84,988
= 59,492
= 25,496
401 Al&HI LY 10,000 0 10,000
= 7,000
= 3,000
01 Al&H] 10,000 0 10,000
O[AlI&HI] 10,000
ORSMHDI| X B4
10,000,000 * 14l 10,000
= 7,000
= 3,000
IIEEL2 2 HelAld =8 780,715 1,747,128 A966,413
IEELZIHAANLE 29 780,715 1,747,128 966,413
201 LEt2HH| 304,915 190,269 114,646
01 AFRZt2lH] 120,505 16, 169 104,336
Ofgetz=2H|] 120,505
ONE2LBBHeAE UZL S2EAANLES
26 =) 182,120 * 23| 365
OJIEE2LsdiXl A22A £22
400,000 * 23] 800




A 2EE2HY
3

B AEBADN
el JEELREHAL FHIE (ctel@a
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
ONEZLE3HANE 22X HERY (B3
wH S) 1,200,000& * 63 7,200
OHIARZAE ¢ 180,000& * 23| 360
OII=EZL33XelANE E4 Y 2HeES
315,000& = 12& 3,780
ONFELsdX S|
45,0003 * 200&€ * 128 108,000
02 2234l 184,410 174,100 10,310
ol2222 % HAI 136,410
OII=EE533XelANE 82 &I
10,415,000& = 12& 124,980
ONEELSSHEAE 28 &3
952,500& * 12& 11,430
O[AIE & HIR Y] 48,000
OJ=EEB33XelAE A2l
4,000,000& * 12& 48,000
206 M= Hl 115,800 67,500 48,300
01 =z 4l 115,800 67,500 48,300
OIEE=333FeAld 2EUEHI
9,650,000& = 123 115,800
307 QI2t01A 360,000 1,489,359 A 1,129,359
05 QIZtRIEF 360,000 1,489,359 A 1,129,359
Ol=E2a33HM2IAE 2gUl(28Y])
30,000,000& * 12& 360,000
HOI2 2 6,084,175 5,124,939 959,236
= 1,100,000
& 34,840
= 4,949,335
HII=Z Xel 210,800 212,832 A2,032
& 34,840
= 175,960
S=sHUlY =H1&8Hd2 N3 75,000 73,600 1,400
& 15,000
= 60,000
301 L2 AZ 75,000 73,600 1,400
= 15,000
= 60,000
12 JIEtE2 43 75,000 73,600 1,400
QHbHIE+=HEe= Xlg 502 = 1,500,000kg 75,000
& 15,000
= 60,000
sUUY e dXAE 7,500 6,500 1,000
& 3,750
[ 3,750
206 M= Hl 7,500 6,500 1,000




A B2
M I 2L

= o
e HIlZ M (el &)
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
< 3,750
= 3,750
01 MHZ bl 7,500 6,500 1,000
Osaeld =Hg 2 500,000& = 1504 7,500
= 3,750
i 3,750
SYHHIIZ 2cl 44,080 40,336 3,744
101 QI Z4H| 30,949 31,718 AT69
04 JIZHMIZ2XESE =+ 30,949 31,718 AT769
OM&glll 2SI &5 2Y
34,610& * 401 * 180 24,920
OFs=d 34,6103 * 421 » 4 » 63 3,328
O4UEE= (A2, 63,08, &)
28,243,000& = 0.0958 2,706
201 B3| 8,831 6,818 2,013
01 AtR 22/t 6,494 4,770 1,724
olger=gtl] 3,370
OHIISSYET| FIB X
270,000& * 1A = 110 & - & 2,970
OMIIZYET| 0ISA 2AFHHI2t OIF &
paj:l! 00,000& * 20H * 12| 400
Ol=&tl] 1,800
OHIIZ HHEda NE-Hs INEed L
1,800,000& * 14 1,800
Olgxz] 1,324
OCHYIS=YME =e FHIAES
441,333& * 33 1,324
02 =234l 2,337 2,048 289
o222z ¢ WAl 1,887
OUES4H SHEI| Jtollet AHU A==
31,354 12 = 404 = 12&8 1,505
OUH2AE 2YED| Stoliet &2
7,9583 * 404 « 128 382
O[A&EbEI=XId] 450
OUHSAIE SHEI| ZAIFt02t 22l
112,500& = 4CH 450
202 (4Hl 2,700 0 2,700
01 =LA bl 2,700 0 2,700
OHJI2 thEg s NEE= o]
2,700,000& * 14l 2,700
307 QI2+0I A 1,600 1,800 A 200
05 BItRAE = 1,600 1,800 A 200
OYXHIIS(MEE) A& X2l
400,000 * 404 1,600




SN B#PRED
Ha: HOI2 2
el HOl2 HMe EERED
_ _ HE T
SN EB -GS - MBAY - BES 01l &k o e HRE2
HUWE +E 2 44,000 44,496 1496
201 Y2 ] 3,500 3,996 ~496
01 AFR22/HI 3,500 3,996 1496
Olger4gHl] 700
OHJINAE e 4 XX
70,0002 * 104 700
olgxz] 2,800
OHJINKE SISl E2 X2
450,0008 * 43l 1,800
OHZS fstHel E2AXE
500,0008! * 23| 1,000
307 ©12+0| A 40,500 40,500 0
05 BI2reIta 40,500 40,500 0
OHB A4 ISHMeltl  250,0008 + 90 22,500
OZCHHIIZ ISt 300,0008 + 60 18,000
ASHIIZ L 0SS 2TAL SXIAY 40,220 37,500 2,720
< 16,090
2 24,130
401 AI&HIL S| 40,220 37,500 2,720
= 16,090
2 24,130
01 Al&H 40,220 37,500 2,720
OlA£HI] 40,220
OYSHIIS L BISE? +EAE 21
10,055,008 = 474 OF2 40,220
= 16,090
2 24,130
HIISHM2IAE L FL0IS TSR 4,127,700 3,106,699 1,021,001
2 1,100,000
2 3,027,700
SR HIISHRIAL e 2,700 8,532 15,832
202 01t 2,700 2,700 0
01 =W oIt 2,700 2,700 0
OBPAL WX A3 900,0002! 33l 2,700
AN HIPL AL 1,000,000 0 1,000,000
2 500,000
2 500,000
401 AI&HIL S| 1,000,000 0 1,000,000
2 500,000
2 500,000
01 Al&H 985,000 0 985,000
Ol&AIEHH ¥ Z2EHHI] 20,000




SN BFEHD
Hu: HIZ 2
S HIIZHIAlE ¥ FHOIS FOUSRAY CEEREED
A =
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o HRE2
OLZTAIE HISLFEAR AAIE ]
20,000,000 * 14} 20,000
2 10,000
2 10,000
O[N] 965,000
OAAIE HELHAY
965,000,008 * 141 965,000
2 482,500
2 482,500
WRETEI] 15,000 0 15,000
O22AAAE HESHALY HIIBA 22lt]
5,000,008 * 141 15,000
2 7,500
2 7,500
BRI F 1,200,000 2,006,495 806,495
2 600,000
2 600,000
401 AlEBIZ 2 ThY| 1,200,000 2,006,495 806,495
2 600,000
2 600,000
01 Al&tt] 1,200,000 2,000,000 800,000
OlA &l ] 1,200,000
OHISIMIRIX Hbl At
1,200,000,0002! * 14! 1,200,000
2 600,000
2 600,000
DUSBENAME FH0IE X 1,000,000 0 1,000,000
402 PI2ERHEZOIH 1,000,000 0 1,000,000
01 DIAXERE 1,000,000 0 1,000,000
OJRSAXAHE FH0IS e
1,000,000,0008! * 14! 1,000,000
HOISH2IAE FE0-SX 2 925,000 0 925,000
401 AIZHIL 2O 925,000 0 925,000
01 Al&t] 925,000 0 925,000
OBIIZHEIAIE EHOIS FoI52AAY
925,000,000 * 141 925,000
HIIEXEIANE 2 1,696,275 1,659,820 36.455
DRBBRRAME (A2AL)2Y 1,474,318 1,277,900 196,418
101 2124H| 32,313 31,127 1,186
04 JIAH22 RS2 S 32,313 31,127 1,186
ORILARE 212yl
34,6102 * 391 * 2602 26,996
OFDILANRAFEESL
34,6108 * 321 » 242 2,492




SH: BHEED
B HOIZ 2y
el HII2XMeAYE 2 (98
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
OFSZARE 4HEEE 2,825,000& * 14 2,825
201 EH2HH| 318,307 418,871 A 100,564
01 AtR 22/t 87,771 92,158 N4, 387
Oleet+2Hl] 85,755
OHI&HM Heldl
176,000& = 23.674= * 123 50,000
OCtOl=4l HAHHI 4,500,000 * 13l 4,500
OTMSE &= & Attl 4,320,000& * 12 4,320
oHg=Egel FIIZ A 135,000& = 13l 135
OTRIIBHED A TIFE |
800,000& = 263 20,800
OJIEHIZB (I, J2I4 S 2BDAHI)
500,000& = 123 6,000
Olu=tl] 2,016
oxg=s 2¢ 150,000& = 621 » 13 900
OOt E3l, HIR, WaE S
3,000& = 28 * 62! 1,116
02 3323l 230,536 326,713 N96,177
Ol3222 ¢ HAlI 126,400
OAANE 2Y HIIQS
9,750,000& » 123 117,000
OAZAIE 2% +T23 633,332 1228 7,600
oz BE HIAME
180,000& = 13 180
Oosdll 2¥E+= 135,000& » 128 1,620
Ol¢zul] 20,016
0422 BEXAHZHI
1,450 = 1,150.34¢ = 128 20,016
O[A&ZEI=XI8l] 78,180
OJIAANE B8 224 3I12
90,000& * 1085 * 2JHA 1,800
OAN&EE EA4AEF 90,0008 » 13| » 200 180
OTNSE X 22| 9| 1,000,000& = 12& 12,000
OL2ANE3EE RXNE4HI(O1H,HIIEE)
5,350,000& * 12 64,200
Ot eyl ] 5,940
OZEXHE S ¥zl 405,000& * 128 4,860
OX&dH € 4234 90,000& 128 1,080
206 M=l 76,950 93,280 216,330
01 T2 76,950 93,280 A16,330
OYXIAIL 42| 6,000,0002 * 122 72,000
O42ANE BlOT 2E ST
6,600 * 750% 4,950
307 QI12told 1,046,198 732,822 313,376




SN BRI
M2 HOI2 2y
o9l HIISXHeIAE 29 EEREE)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot HusZ
05 pI2teIEt3 1,046,198 732,822 313,376
OAAIE et2dul(DFHI)
87,183, 1662 » 122 1,046,198
405 XHaHE SH) 550 0 550
01 MAUSEH S| 550 0 550
Ogelg NYELI| 2 550,008 * 1H 550
SEHIISHAANL (HBAL) S 113,201 213, 146 99,945
101 2121t 20,633 20,752 A119
04 JIAHIEZXSS4 20,633 20,752 A119
ORILAR A2yl
34,6102 = 201 * 2602 17,998
OFULNLR FHLEY
34,6102 * 201 + 122 831
ORIUARR 40 B2 1,804,002 * 1A 1,804
201 Y2 82,768 95,894 ~13,126
01 AtR2lt] 15,288 0 15,288
Oler+gH] 15,288
O H Xok+ FII2 A
68,0002 * 3 33 1,512
OMEYE HE4 FIIZA|
194,000 * 43] 776
OHEZ FIIZAI 13,000,000 * 1A 13,000
02 B2 67,480 95,894 £28,414
OlB282 % MAl 17,320
OMWYAE 29 ®IIQ3 833,333% « 122 10,000
OMBAL 2% 2R3 30,0008 * 128 4,320
OMAL HE3lHd MSE
40,0002 * 434 * 122 1,920
ONAIL FIIHE 2| THe |
90,0002 * 122 1,080
O[ANZZHIRXIHI] 32,160
OMEAIE RXR2lbl 2,500,008 * 122 30,000
OCCTVatTI 2t RXIZH2ltl 216,009 * 10CH 2,160
Olxtzret]] 18,000
OTHl RFU(ZAII2 35)
1,500,008 * 122 18,000
206 T2l 4,800 13,500 8,700
01 MEH] 4,800 13,500 8,700
OotBHI(2, 45, 23 S)
400,000 * 122 4,800
401 Al&HIL 20| 5,000 18,000 13,000
01 Al&t| 5,000 18,000 13,000
OLA&HI] 5,000




SN BHBHD
BE: MO LY
CHol: HIISX2ANL 2 CEERE
i _ . e -
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
OE & =&l 15,000& * 333.33m’ 5,000
SSHESIIPAE 2Y 91,656 144,474 Ab52,818
101 0 24| 53,856 61,854 AT7,998
04 JIZHMIZ2XNSE =+ 53,856 61,854 AT,998
OMEEBEHE ARy
34,6103 * 521 = 260 44,993
ONMEBBEHY IRy FH2Y
34,6108 * 501 » 24« 4,154
OMEBBEL) Ry 40 2EE
4,709,000& * 14! 4,709
201 Let2EH] 31,800 36, 180 A4,380
01 A2 el 6,000 6,480 2480
Olg s8] 6,000
OMEBHEAL SR 7U(L2E S)
500,008 * 122 6,000
02 223l 25,800 29,700 A3,900
Ol2222 % MM 9,600
OTEEIIPAIE 2% ®II23
500,000& = 123 6,000
OMEBHEAL 29 £523
300,000& * 12043 3,600
O[AN&EHISTIHI] 9,000
OMEEI|BtAIE X2t
750,000& = 12& 9,000
O[xt&detyl] 7,200
oMaE+Hig RFMWM  600,000& * 128 7,200
206 M=l 6,000 46,440 240,440
01 M=Hl 6,000 46,440 A40,440
OUELI(L, AS, 25 S)
500,008 * 122 6,000
2 - ZIANE 2F 17,100 24,300 AT,200
201 et 17,100 24,300 AT,200
02 25234l 17,100 24,300 AT,200
O[AM&EbBI=XIY] 17,100
OUE - LEAE KRB
1,200,0002 * 122 14,400
OXtsS MO gt =2l 2,700,000 * 14l 2,700
SASMY Dl 2tel 49,400 145,588 296,188
SASMAYI Hel 49,400 145,588 296,188
201 et 4,100 6,426 N2,326
01 AtS 22l 4,100 4,176 AT6
Olg s8] 4,100

_10_




fA SEEMN
mu: goIg 2
& SASMY Dl 2el (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
O8Al2 EJl+=H 88 2dItE HH
70,000& = 200K 1,400
O8A2 8l 22 MA
2,700,000& » 14 2,700
307 S12t01& 31,800 39,312 AT,512
05 2IRIRAES 31,800 39,312 AT,512
OsaSMdIl /I8 el
53,000& * 10€ * 60 31,800
405 KHAHFESHI 13,500 99,850 A 86,350
01 T ESSHSHI 13,500 99,850 A86,350
OSaSMIl 88 =187 7
60,0003 * 22504 13,500
oz 527,424 578,458 A51,034
ME M D] 2tel 181,889 206,486 224,597
MEM I =HXel 158,845 152,047 6,798
101 el H] 66,417 62,477 3,940
03 RIAHAZZHE = 14,540 10,600 3,940
olu=tl] 14,540
O 0oF& 27| 60,000& * 34021 * 13| 2,040
oxg= 100,000& = 34¢! * 23] 6,800
OQot& 3t 44 1172 » 3491 = 23| 3,000
O <l 25,0003 * 34021 * 23| 1,700
OBXt 29,4113 * 34021 « 13l 1,000
04 JIZ 22 HEE+ 51,877 51,877 0
Ot Ba ol
34,610& = 5¢1 260 44,993
OESAE HA 020 AYREHE
44,993,000& * 0.153 6,884
201 Let2IH| 9,878 9,720 158
01 AtER22/Hl 6,728 6,570 158
Olget==gHl] 5,300
oMaMed 2= MA
4,500,000& = 14 4,500
OMEMY D SHUHEZ LD AEIH M 800
o LetMe D] 300& = 1,3330H 400
o SA =MD 300& * 1,3330H 400
Ool=&tl] 1,428
OZ0ISRY WIS Z S|
7,000& * 342! * 63| 1,428
02 2224l 3,150 3,150 0
Olisad 3AXg 22|
3,150,000& * 14 3,150

_11_




SN BASHD
M Zapel
Sl MMl el (25l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o bRz
202 Oit] 3,000 0 3,000
01 2UhoiHl 3,000 0 3,000
OMEMYI| £I1=H0l it
3,000,0008 * 141 3,000
206 W&l 69, 150 69,450 A300
NRIE 69, 150 69,450 A300
o248 12Y ¢
5,008 * 90 * 11944 4,950
OMI| SHH =€ MX 602 * 670,00004 40,200
OSASMY )| HEEI| H2RE N
2421 * 1,000,0000H 24,000
307 Q201 H 5,000 5,000 0
04 DIFEALBE 5,000 5,000 0
OLHSHEO & #AKR 5,000,008 * 13l 5,000
405 THAHE S 5,400 5,400 0
01 RAUSEHSH| 5,400 5,400 0
OMEEE =2el4+) 8)172
300,000%! * 1874 5,400
A2AAE RE 2R 16, 180 48,967 ~32,787
201 Yer2 YY) 16, 180 13,967 2,213
01 A2l 13,300 6,623 6,677
SIEITES=11T) 7,300
OGS X AB4 +EAALSE
1,825,000 * 43l 7,300
Olgxz] 6,000
OHIIZHEAL SXASE
1,500 * 4,000 6,000
2 BB 2,880 7,344 A4, 464
Olx L] 2,880
OWYZEES 281 R
1,500 * 1,200 2 1,800
OXNBHUISNY L A2E
90,0008 * 122 1,080
REHHZ 25 6,864 5,472 1,302
201 Yer2 Y| 6,864 5,472 1,392
01 At 2l 6,864 5,472 1,30
Olgsr+2H] 6,864
OREHHLES 228 7Y 4,404
oI 2,008 * 1,977} 3,954
oY 2502 * 1,800% 450
OREHEZLSS 842 S 222 M
60,0002 * 10)H * 23l 1,200

_12_




SN BB
R HADE
Sl MEM | 2el (25l &2
” 5. CHOl (3 » > i =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OBAWAHY 4% S 222 HE
70,0009 * 1874 1,260
MBMYI| 22 (SHAD) 345,535 371,972 726,437
MEBMY Il =HH 345,535 371,972 N 26,437
101 2121l 132,422 131,859 563
04 JARZENSE S 132,422 131,859 563
OYUs U U5 YR MY I 27 A9Y
34,6102 * 491 x 152 x 108 20,766
OYYs L M5 LM MaI| +H ARY
sRE2 20,766,0009! * 0.095 1,990
ORTH FHAX M| +HFHGYY QR
34,6102 * 102 « 152 * 122 62,298
OIETH FHAX M| +HHLY 422
62,298,000%! * 0.0958 5,969
O5LAIZ QI2it| 25,270
oyes 34,6102 * 201 + 732 5,054
04I=B 34,6109 * 201 » 732 5,054
OAIES 34,6102 * 201 * 732 5,054
OZAE 34,6102 * 201 * 732 5,054
OB Ate 34,6102 * 291 + 732 5,054
ONS22FH 0528 2121y
34,6102 * 201 * 532 3,669
OYAWAAF 01528 2121Y|
34,6109 * 201 * 152 « 128 12,460
201 Yere2oty| 194,453 194,453 0
01 A2t 5,490 5,490 0
Olger+gtl] 5,490
OSH 03128 HA8 HIE 3Y
45,0009 * 279! * 43l 4,860
OHAE 21013 44 45,0008 * 14CH 630
02 IS 188,963 188,963 0
Olxtg e Bl 188,963
0% o AR RF0 157,463
0 QBRI
1,391.2190 « 450 + 128 = 10CH 75,126
osAE 1Y
1, 391 219 * 986.390 * 128 * 5Cf 82,337
OSSP HAXY 244 31,500
0 QB 900,008 * 10CH * 23| 18,000
0SAS X 1,350,008 * 504 * 23l 13,500
206 T2l 2,160 2,160 0
01 HEHI 2,160 2,160 0
OMI| HYE 2S%E 7Y
180,00020 * 1H4 + 128 2,160

_13_




fA SEEMN
R HADE
Chel: Mathgd] 2e(SHLAR) (ctel: &
- _ _ poNE N
SAN-ZH-SA(FA) - NFAY - BES Off &F oK bﬂngﬁ HwsZ
401 Al&HI LS04I 16,500 43,500 A 27,000
01 Al&H| 16,500 43,500 A27,000
O[AlI&HI] 16,500
OMeDINEd =&
5,000& * 5,400m = 0.5m 13,500
OMDIMEH B 3,000,000& * 1JH= 3,000
tholeg 22| 1,193,284 556,662 636,622
= 11,000
= 574,000
= 6,000
= 602,284
tolstzd2d 1,193,284 556,662 636,622
= 11,000
& 574,000
L= 6,000
i 602,284
oI*EEHY It 12,000 11,858 142
= 6,000
i 6,000
307 GI12+0I & 12,000 11,858 142
& 6,000
= 6,000
05 2IRIRAES 12,000 11,858 142
OIILI=EL 2t X
12,000,000& * 14 12,000
& 6,000
i 6,000
JIZEHSHE KA 4,500 4,500 0
201 B3| 4,500 4,500 0
01 AtE22/Hl 4,500 4,500 0
Olget=gHl] 4,500
OJI=dstHe 8228 MA
4,500,000& = 14l 4,500
iegsgd 24 5,184 5,184 0
201 B3| 5,184 5,184 0
02 =234l 5,184 5,184 0
Ol22e3 4 WAl 5,184
oOlIE N=s=3Y 29 5,184
odIILa 270,000& * 12& 3,240
odatea 162,000& = 122 1,944
ASIHEOLA & &5 1,600 2,120 A520
201 LetIH| 1,600 2,120 A520
01 AFR 22l 1,400 1,850 A 450

_14_




A 2EE2HY
M g 22

¢ oIz EA (&9 HM
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K bﬂ/‘\_“’” Hlw &2
Olgit=+&Hl] 1,400
OBHEItA SHEH 225 7
450,000 = 2CH 900
OHHEIIA SHEH F=HA=22
250,000 = 2CH 500
02 3323l 200 270 AT0
O[A&ZHI=Xdl] 200
OEZHEESEZ=H FHl=d
100,000 = 2CH 200
AHHEX 2E=A ZHALE 1,148,000 370,000 778,000
= 574,000
= 574,000
401 Al&HIL2CHY| 1,148,000 370,000 778,000
= 574,000
= 574,000
01 Al&HI 1,148,000 370,000 778,000
OlAI&HI] 1,148,000
Outd =Xl 2&5=X ZdAY
1,148,000,000& * 14 1,148,000
= 574,000
= 574,000
Jeldidgs NEAE 6,000 5,000 1,000
= 3,000
= 3,000
307 elztold 6,000 5,000 1,000
= 3,000
= 3,000
02 It a2 x 6,000 5,000 1,000
Oageld s N&E 6,000,000& * 14 6,000
= 3,000
T 3,000
EAZOIEN IHEIS X3 AHY 16,000 18,000 A2,000
= 8,000
= 8,000
301 LEEAS 16,000 18,000 22,000
= 8,000
= 8,000
12 JIEIE A3 16,000 18,000 A2,000
OBAZEN 2&= Xa
16,000,000& * 14 16,000
= 8,000
= 8,000
MEHH ES 37,905 139,256 ~ 101,351
[ 2,275
= 35,630
MERH 222 37,905 139,256 ~ 101,351




A 3=
S MEH
Chl: AHEH (ctel: &)
) _ AT
N - GR(ZAH) - MRAY - BAES e @}\_FO” Hlw &2
< 2,275
= 35,630
oS 11,376 11,376 0
< 2,275
= 9,101
101 11,376 11,376 0
[ 2,275
= 9,101
04 JI2tH sSE= 11,376 11,376 0
23R =2y
34,6103 » 321  109.562 11,376
< 2,275
= 9,101
HSA 26,529 107,880 81,351
101 13,969 400 13,569
04 JI2tH SE= 13,969 400 13,569
2S@ ISHI(EE =)
200,000 = 29I 400
ore 34,6103 » 491 75 10,383
IRy =54
34,610& * 491 » 10 1,385
A2 E 11,768,000& * 0.153 1,801
201 7,050 2,080 4,970
01 2,920 2,080 840
] 1,800
== MoigXs e
2,000& = 900 1,800
| 280
ToH RIS FH~H
70,000& = 121 * 43] 280
840
222X Z4AH 7,0008 * 421 « 30 840
02 4,130 0 4,130
TAIE RRAEY
1,720.46% * 6002 = 20H » 204 & 4,130
206 560 450 110
01 560 450 110
s= 90/ 450,000¥ * 13 450
£ 257 7Y 55,0008 * 24 110
301 = 4,500 4,500 0
12 4,500 4,500 0
Ol 2st sHShdl 243
900,000 * 591 4,500

_16_




oF
R’

ok
o]

n
&)

= 1o &)

e

n0

KIo

Bl w

3,448

A 1,056

A 1,056

144

144

A 200
A 200

A 1,000
A 1,000

4,504

LH3r
m<l
Rk

450

450
104,723
15,118

15,118
5,618
1,125

4,493

500
500

9,000
9,000

89,605

6,900
4,650
4,650

=
o

s

<J

450
450
450

14,062

108,171

14,062
5,762
1,125
1,125

540
405
180
4,637

48
4,589
4,589

48
3,593

996
300
300
300

8,000
8,000
8,000

94,109

6,900
4,650
4,650
4,650
3,150
2,250

900
1,500

5

45,000& * 10

307 2I2tol &

gl
B0

R0
o

2+ 180K

=

1,500& = 27004

500& * 1,0800H
A AEED 2

10,000

PN
&

x|

2
o

0 SAA
T

ez}
=}

&l

2

3

teldl
e
&

2
&£

)
)

01 At

30
3]
M0
M0

=
o

te

4,000& = 123

2

g

X
hl

3H(128)

NS

A
Ll

M Al
ML

%{

30
0K

a

0
<
4

0J
iy

OF

o
10!

&0

&0
o

3

2l x4

=

=]

[uind

# o« 2,58214

249,000

1,391.21

b

o=EN
o ==2clt]|

12 JIEt

50,000& * 6A

ro

H
B

<

Ok
0

80

Ak

R0
o)

2w 1Al

[=]

8,000,000

| =Hl

F

405 At

B
H
&0
o)
)

30
0K
A
E
0
=
R0
oy
all

5,000& » 450%
2,000& = 45004

I
=

ol

<

80
o

E
60
=
&0
o

2,250

1,500
2,250

|
_17_

3

500,000& = 3




M S#ASAY
M stHES 2
&t eI EA CEREED
i, _ . dEE =
A -3 -H2A(SH) - HEAMY - BES O AF K Ol A o8 Hlw &2
10 HAIAHIZEAZ 2,250 2,250 0
OgZHMEns ¥ S|
5,000% * 4509Q! 2,250
SIMERE = 2el 56,342 53,188 3,154
101 1] 21,269 21,269 0
04 JIZtHZZ2NHEES> 21,269 21,269 0
Oz 2UaL A=2gd” 2Y
34,6108 » 12 » 20 » 123 8,307
OFs=+d 34,6103 = 12! x 43 * 128 1,662
OEx=¢ 34,6102 * 121 * 123] 416
Odxt+=¢ 34,6102 * 121 * 15 520
OdidRes FUd+= A=l U2Y 4
l=2g= 10,905,000& * 87/1,000 949
OZNERES MNES XA 22Y
34,6103 = 221 * 60 23 8,307
OFF+Y 34,6108 * 22! » 42 « 28 * 23| 1,108
201 LEH2HH| 28,293 28,139 154
01 AtR2teld] 14,433 14,279 154
Oolger=gtl] 14,433
OEZMNEEY S 0CRLAAM +&
49,500 » 78tA + 23] 693
OtZMERLEZ DN ESFE 7€
100& = 9,00001 = 23] 1,800
OEINMERYS E.*_Lll/\‘l Kl 2l 24
653 = 40,00001 = 43l 10,400
OINEEY s HREE &= MA
70,0008 » 1188 » 23] 1,540
02 3323l 13,860 13,860 0
Ol3222 ¢ HAl 13,860
OEZMHERL S DN LS REE
250 * 13,5002 * 43] 13,500
OEINERYE=s MEX SIYF =2
2,000& = 90 * 23 360
202 O] 3,780 3,780 0
01 2o 3,780 3,780 0
OZNERE=S MW =+ SHNH
20,000& * 321 » 63 3,780
303 Zaz 3,000 0 3,000
01 Z&3 3,000 0 3,000
OINEREMEWE s 288 A2
600,000& * 58H 3,000
a2 Hae 15,867 14,517 1,350
201 LEH2HH| 1,662 1,512 150

_18_




oF
R”J

ok
ol

U R
ERRIRL
&J ol RO
H I w
R0 RO &J
CINTINS

SN
X ZH

.ﬁ
0

=g

— Al Al [e e} e} (] [a\]
I —_ | - %) © o o)
B & < &
Ko
=
D
[N} o o o o o Lo (e} Lo o o o N~ N~ (e} (e}
— (e} o (e} o o [ee] Al o o o o o
© > | @ | D 2 N SARSHES « «
- SY S - |- wlwe|e 3 3
LH3r @ ®
uiled!
KIS
[aN} [aN] [aN} (e} (@) (@] Yo} Lo o o o o o o Yo} o (e} Lo Yo} o o o o o O O © Q0 O © o O O ™ O M
— — — Lo Lo [Ye) N~ N~ (@) o o o o o (&) [ee] (o] QY] (V] o o (] o Al O O Al Al O O Al o O O o 0O <
0o T T | &|lols Sl@mls o A q|ISIS|S S5 &S89 85§88 S5S5Id "9
- - S A A elRle 28 RNQ8 eV @ 8g|w Y
o A — [epIENaN] — [aVIENaV]
3
<
=
W n MW e e
o] G, all x o] o] ol
oV} o 9 ™ — oV — —
o O -
X ™D N D x * * * *
or mmm % — S5 o 5) 5! o
X0 @ o OF: =0 © o o Lo o
& 8 o muu = ¥ w x <0 & w
Bl Rr S roJila\! =) ) = >
= ok & % = = o ® < = o
: = - R & S . _ & 3
) 0o & @ g N QE X9 o
L o ol _ —_ HSs H0 < -
< 2r o K o — — O ok Yo
I+ 1o x RJ 2 o ~ b
or <+ o = i R) A - =
= w = < K - =
— 3l =z Y = 3 ¥ =1 -
B 0 = & = 2 K0 7 o1
Gl =N R -__A i X n o |® 7 -
F o o o ® ° o = 0 ) N K & P
5By E Do WA = T |8 R m|H ™ o ol o H a0 o] -
0o A B0 po w0 Gl U - = R = H 0|3 & 20 M T | ® | %0 B0 n 30
S oS W g o o o = RO K | KF RO M|z RO H 8 | S [® 0H
R lor & o m X o Tz w oF | & W Bl | = W = = | A A oAk 0 o 31 3l
R0 =< O 0 O S| O A=< O ol [® O ~ O 0| allal O 3l [l S ol
: — o o | = | o — |o N B0 oy ur X0 s pa
g o S < <BEs S| — mwl g |e A o nJ %
o+ 13 | a1 3)
) | =
)

_19_



SN BERHD
HE: fE AS O
ool R saRe (S5l &2
_ _ Muo
SN ZB - SR(BH) - NRAY - BES 0l &k 24 il ot o SImE=ET
01 At 2r2lb| 5,233 0 5,233
OSIQIOI ML H A LBHEIIS22
900,008 * 4% 3,600
= 2,880
2 720
OO H2AFAIY MAEOIL4E
40810021 * 4% 1,633
= 1,306
2 327
307 QI2H0IH 244,767 0 244,767
= 195,814
2 48,953
02 PIABAEE 244,767 0 244,767
OSIool & 2= AL BRI 2IH]
3,500,0008 * 4% 14,000
= 1,200
2 2,800
Oolot0f 8 2= ALY XY
57,691,7508 * 4 230,767
= 184,614
2 46,153
SH0Y NTHs 29,693 30,695 A1,002
201 Ygreg| 17,633 18,635 A1,002
01 At 2ty 17,633 18,635 A1,002
Oolge+gl] 5,333
OZHAILNT EH #40 HE
70,0002 * 90K * 23] 1,260
OZH0Y XSS &40 R
70,0002 * QOH * 23] 1,260
OZBANL0T S 2E YAT M
703,2502 * 494 £ 2,813
olgxza] 2,300
OSBH0Y TE Mt ARtE
300,008 * 52 * 43l 6,000
OBHALNT BHHY A8
630,0002 * 10 6,300
202 OiH| 3,060 3,060 0
01 =Ujoi | 3,060 3,060 0
OBHOY BSHS Ot
86,0008 * 191 * 103 1,860
OSHALNT L HOIY & X204t
20,0002 * 291 * 302 1,200
307 Q201 9,000 9,000 0
05 DI2tSIEr2 9,000 9,000 0
OSH0I? S sl
300,008 * 15 * 23| 9,000

_20_




SN BALEY
Hu: 0fE AS OF
ol Ol gH2el EEREED
_ _ MNuE o
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
SMTH BE 9,135 19,512 £ 10,377
201 Y2 Y| 8,595 9,972 A1,377
01 AFR 22/t 8,595 9,972 A1,377
Oler2gyl] 7,675
OFMSHEMK HAl NEEHs 40 HE
70,0002 * 1004 700
O&MSAMK HAl EXT M=
9,0002 * 30074 * 18l 2,700
OFMSAMT HAM 222 HE
2,0008 * 45004 * 18l 900
OFMNE (BIYR)EE S Y2He K=
562,5008 * 674 4 3,375
olazyl] 360
OFMSAMTEA NESHETE He
360,002 * 14! 360
oleg+g] 560
OFMEHDIAG HALT
70,0008 * 821 * 13] 560
202 o1l 540 540 0
IETEE 540 540 0
O&ASAMT Al BES= 0fH|
135,0008 * 101 * 43| 540
Rl B2 ZXHAILE 10,000 10,000 0
307 212H0I 10,000 10,000 0
04 DIZHAIBE 10,000 10,000 0
oYz 4 M78 M= LXIHAIE
10,000,0008 * 1l 10,000
DESHHRERLIY 7,200 33,000 25,800
=2 3,600
2 3,600
402 QIHXHZO0|H 7,200 33,000 25,800
= 3,600
2 3,600
01 DIZREEE 7,200 33,000 25,800
OOl &DI2 & FHIHEY
160,0002 * 75hp * 60/100 7,200
= 3,600
2 3,600
NEETEIIE 90,000 0 90,000
= 50,000
= 2,000
2 38,000
402 QTR0 90,000 0 90,000
=2 50,000
= 2,000

_21_




oF
R”J

ok
ol

o o o o o o o o o o o o o N~ N~ o
8 )RR RCH e 8|3 BIR|&
- S ©| | o o | o NI
m_o ® J1 << RS 21 <
=
=
o [e0) Q Q xQ <t <t o o o o o o — — (ep)
(&)} (&)} (&) (&) () ()] (&) (@] (@) (] (@) (@] [a) Lo —
— — — N~ — © < < Yo} Lo Yo} Yol (@) Al —
slelgl|ls|s NN < | < w | S |ai| o
CA_H_| o o (ep] — — (o)) ()] [aV]
o
<
KIS
o1 o o O O O [e0) [e0) xQ xQ < o o ¥ O X O (=) < © o o o o o o o o o O < < ™
(&N N o O O O [e6) Q Q QO D W o [SNEENep] o < <t [O) NN e)] 0 O (@) (=) (=) (@] (@) (@) o o O (&)} ()] —
S| S 3838g|g|s8|dgR|8E S HESIBTH BHSS BSIF S|3|8 BSISS|F[F|=
| O o O AN © — — — (@] o Ye) (S [aV} [aV] [aV] <t < <t Ye] w0 w0 [4p] (4p] «©
[as N l®)) (o) INTe] o Al Al [aV) [e0] e0) A
3
<
=
I e
38 oo <l ™ ol =S o] ol =
= D o 8 NN ~ ol — )
o 8 Uo * * K = x x * ﬁ * =
. - ®g & ¥ 5 ® . 59 >3 =
) W & RN o W S =7 8 S « Y &
! 8 . =T S o " © 3 Rl w * 8
. S = * S o W0 — » o 4] = -
- o - & on SN Kb S — OF) o
30 o RroH of -, o) o n & =) oy o S
ol mm% =3 < 4] r N S 1T W S 70 S S
< <g S 58 KIS o0 S P o
ji[s RS} e = KE < o LIRS 8
= K H @ MHR o Ok - 00 3
) = woow < 3l — & O =] ]
= o 5 s ® L. T =5 T ok = =
= o R R RO ;LI R0 KR RO 5 -5 5 _
1o} sl - & & B8R 8l CL=T Y ) o &0 1o RS -
s K & o 0 00 100 0 00 Wl 100 Mo 100 100 ol X0 ol A K ol z) m Y
o o o Flol= 4 : A = - G : W |0 D ow0 oo | g o
N A Blso|m 4 o 3 o W Al g o 8 5 o o - - WD T RIZ R n
- L ol | W™ 5 E B 8 oo B Wy B8 33 |H|AWIT|S|[B |y 0o
= AR Aol w2 o o o 2o Mo o|z|F 8 U e I B I T B oo
RO al O wlA|a|a|x O O M O S| O ol | & O allal O| =3 B
. - @] - |- ~ o~ | = N ~ | < 3| ™
T o Wi |a| ([ S Sle S|— S|° 30 | R0 | RO
I+ (a3 b | |
o | B R =
s 0

_22_



SHZEE A
HE2AAY (BZ2E D)
Jl2Z 4l EH)
SN EY O (BH) - MRAY - BLS Aol Bl =2
Gil &t 0
201 LBty 16,443 16,443 0
01 AFR 22| 16,443 16,443 0
Olgers=&Hl] 12,285
OFN2ZE SHUAL 12,285,000& * 14 12,285
O[=&l] 4,158
ORAN2ZE SHAHL  7,0008 * 621 x 99 4,158
202 O4Hl 5,670 5,670 0
01 =LHO b 5,670 5,670 0
ORN2E SHA L 5,670,000& = 14 5,670
203 HERF&d| 4,200 0 4,200
04 EARIERFEHI 4,200 0 4,200
ORMZIHERF=2AI 350,000& = 12& 4,200
SENCEY Jl=3Hl 16,886 21,402 A4,516
201 LBt243| 6,986 8,802 AN 1,816
01 AtE22|Hl 6,986 8,802 A1,816
Olet=gHl] 3,402
ORN2Z SHUAL 3,402,000& * 14 3,402
Ol=&tl] 3,584
ORANZZ SHAHL 7,000& = 421 « 128 3,584
202 (48| 9,900 12,600 A2,700
01 =LHAbI 9,900 12,600 A2,700
ORNM2ZE SUAHL 20,0008 » 32! » 165 9,900
oHd==atg e J1223 | 10,107 10,467 A 360
201 LBt A 5,859 6,219 A 360
01 AtE222|H] 5,859 6,219 A 360
Oolget=&dl] 3,213
ORNEZE SUHA 3,213,000& * 14 3,213
ol22H] 2,646
ORMNEZ SHAHL 7,000 » 321 = 126 2,646
202 O4H| 4,248 4,248 0
01 =LA b 4,248 4,248 0
FN2E SUH L 4,248,0008 * 14 4,248
S A0ISAIEEE JI223 | 12,788 14,734 A 1,946
201 LBt 6,188 5,157 1,031
01 AFR 22| 6,188 5,157 1,031
Oolget=&dl] 1,700
ORNZZE SUAHA 1,700,000& = 14 1,700
Ol=&l] 4,488
ORN2ZE SHUA L 4,488,000& = 14! 4,488

_23_




SN SABED
Y HH YA (S#FEED)
&t D=3l (el &)
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
202 O4Hl 6,600 9,577 N2,977
01 =LA bl 6,600 9,577 A2,977
FN2E SHAHL 20,000& * 62! * 55 6,600
Jelst 3 MEEY J23 | 17,400 23,535 26,135
201 LetHH| 9,720 13,545 A 3,825
01 AbR2t2lH| 9,720 11,745 A2,025
Olget=gHl] 4,050
ORN2Z SUAL 4,050,000 = 14l 4,050
Ol=&tl] 5,670
ORNEE SHAHL 7,0008 * 621 « 135 5,670
202 O4Hl 7,680 6,480 1,200
01 =W 7,680 6,480 1,200
ORN2E SHUA L 20,000& * 62! » 64 7,680
Hegs(sd2d) 144,000 2,100,000 A 1,956,000
LHEHHXI= 144,000 2,100,000 A 1,956,000
BIBEMIZ =4 10,000 50,000 240,000
02 JI2EES 10,000 50,000 240,000
01 JISd&Es 10,000 50,000 A 40,000
OYYR SARHIIZ HE3
10,000,000& * 12l 10,000
=HIHHELH 2 134,000 50,000 84,000
701 DIt HE =S 134,000 50,000 84,000
01 JIEtRI AN &= 134,000 50,000 84,000
=HINLEEESH HEZ
134,000,000& * 13 134,000

_24_




